36.74:
a) Recall that the expression for the amplitude of a traveling wave is cos
[image: image1.wmf]).
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By adding up the contributions from each source (including the accumulating phase difference) this gives the expression provided.

    b) 
 EMBED Equation.3  
[image: image8.wmf]).
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    The real part is just cos
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    (Note: Re means “the real part of . . ..”)

    but this is just 
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    c) 
 EMBED Equation.3  
[image: image13.wmf].
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    but 
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    Putting everything together:
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Taking only the real part gives 
[image: image17.wmf].
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    d) 
 EMBED Equation.3  
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 (The 
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    e) 
 EMBED Equation.3  
[image: image22.wmf].
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 Looking at Eq. 37-10, 
[image: image23.wmf].
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